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ﬁhoose the correct answer:
1-1 (was - were - is ) sleeping.
2-They could not (saw- seeing - see) in the dark.

3-Omar was ( eat - ate - eating ) ice cream, when | watches TV

Jewweln

4-she wasn't (play - playing-played )video games

\S-I was able to ( run- running - runs ) fast when | was younger.

Grrect .

1-when | studied , My mom was cooked

2- We couldn't played golf

3- Sara was able to finishing all housework yesterday.

Match the words with their meanings

I | Be fired injury

2 | risk Take a chance
3 | wound Lose one's job
4 | Get control dominate
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/Complete the missing words

( parrot - thief - zookeeper - backseat )
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